
b2bi/B2M�- 3X DɟHBDb kykj

RX mx/2pmKbX �i`�bi pBbmb b�HBFimb bF�Biżmb n > 1- Fm`B2K TB2KŨi ŨT�ȒŨ#�, D� d1, d2, . . . , dk B` pBbB
bF�Biż� n TQxBiŨpB2 /�HŨi­DB- Fm` 1 = d1 < d2 < · · · < dk = n- i�/ bF�BiHBb di /�H� bF�BiHB di+1 + di+2

F�i`�K 1 ! i ! k − 2X

kX mx/2pmKbX .Qib Ȓ�m`H2Ɯŵm i`BDbiɟ`Bb ABC- Fm`�K BxTBH/­b AB < ACX �` Ω �TxŨKĚbBK
i`BDbiɟ`� ABC �TpBHFiQ `BƜŵ� HŨMBDmX SmMFb S B` `BƜŵ� HŨMBD�b Ω HQF� CB- Fm`Ȓ b�im` TmMFim A-
pB/mbTmMFibX S2`T2M/BFmHb MQ TmMFi� A T`2i i�BbMB BC F`mbiQ MQ;`B2xMB BS TmMFi­ D mM `BƜŵ�
HŨMBDm Ω TmMFi­ E "= AX h�BbM2- F�b b�im` TmMFim D mM B` T�`�HĚH� i�BbM2B BC- F`mbiQ i�BbMB BE
TmMFi­ LX �TxŨKĚbBK i`BDbiɟ`� BDL �TpBHFiQ `BƜŵ� HŨMBDm �` ωX SB2Ɯ2KbBK- F� ω F`mbiQ Ω TmMFi­
P "= BX
SB2`­/Ũi- F� TB2bF�`2 `BƜŵ� HŨMBD�B ω TmMFi­ P F`mbiQ i�BbMB BS TmMFi­- Fm`Ȓ �i`Q/�b mx H2Ɯŵ� ∠BAC
B2FȒĚD­b #Bb2Fi`Bb2bX

jX mx/2pmKbX E�i`�K M�im`­H�K bF�BiHBK k # 2 �i`�bi pBb�b #2x;�HŨ;�b M�im`­Hm bF�Biżm pB`FM2b
a1, a2, . . .- Fm`­K TB2KŨi ŨT�ȒŨ#�- F� 2FbBbiĚ TQHBMQKb P 7Q`K­ P (x) = xk + ck−1xk−1 + · · ·+ c1x+ c0-
Fm` c0, c1, . . . , ck−1 B` M2M2;�iŨpB p2b2HB bF�BiżB- mM

P (an) = an+1an+2 · · · an+k

F�i`�K M�im`­H�K bF�BiHBK n # 1X

G�M;m�;2, G�ipB�M G�BFb, 9 bimM/�b mM jy KBMɟi2bX
S�` F�i`m mx/2pmKm p�` MQT2HMŨi HŨ/x d TmMFiB2KX

Latvian (lav), day 1



bpĚi/B2M�- NX DɟHBDb kykj

9X mx/2pmKbX .QiB TQxBiŨpB `2­HB bF�BiżB x1, x2, . . . , x2023- Fm`B B` T� T­`B2K /�ʈ­/B- �` ŨT�ȒŨ#m- F�
bF�BiHBb
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(x1 + x2 + · · ·+ xn)
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B` p2b2Hb bF�BiHBb F�i`�K n = 1, 2, . . . , 2023X SB2`­/Ũi- F� a2023 ! 3034X

8X mx/2pmKbX .Qib M�im`­Hb bF�BiHBb nX C�T­M�b i`BDbiɟ`Bb b�bi­p MQ 1 + 2 + · · ·+ n `BƜŵ� HŨMBD­K-
Fm`�b B` BxF­`iQi�b pB2M­/K�Hm i`BDbiɟ`� 7Q`K­ i­- H�B F�i`�K i = 1, 2, . . . , n B` bTĚF­- F� ii­ `BM/�
b�im` i `BƜŵ� HŨMBD�b- iB2ȒB pB2M� MQ Fm`­K B` MQF`­bQi� b�`F�M�X S�` MBM/ʈ�b +2żm C�T­M�b i`BDbiɟ`Ũ
b�mFbBK +2żm MQ n `BƜŵ� HŨMBD­K- Fm`Ȓ b­F�b �m;ȒĚD­b `BM/�b `BƜŵ� HŨMBD­- mM i�/ F�i`�B BxpĚHĚi�D�B
`BƜŵ� HŨMBD�B �BxB2i mx pB2Mm MQ /Bp­K `BƜŵ� HŨMBD­K x2K i­b- HŨ/x i�b #2B/x�b �T�FȒĚD­ `BM/­X ȑ2Bi B`
TB2KĚ`b C�T­M�b i`BDbiɟ`BK- F�/ n = 6- �` MBM/ʈ�b +2żm- Fm`Ȓ b�im` /Bp�b b�`F�M�b `BƜŵ� HŨMBD�bX

n = 6

E­ 7mMF+BDm MQ n- �i`�bi HB2H­FQ M�im`­HQ bF�BiHB k �` ŨT�ȒŨ#m- F� D2#Fm`�K C�T­M�b i`BDbiɟ`BK 2FbBbiĚ
MBM/ʈ�b +2żb- Fm`Ȓ b�im` pBbK�x k b�`F�M�b `BƜŵ� HŨMBD�bX

eX mx/2pmKbX .Qib pB2M­/K�Hm i`BDbiɟ`Bb ABCX SmMFiB A1, B1, C1 �i`Q/�b ABC B2FȒTmbĚ �`
ŨT�ȒŨ#m- F� BA1 = A1C- CB1 = B1A- AC1 = C1B mM

∠BA1C + ∠CB1A+ ∠AC1B = 480◦.

h�BbM2b BC1 mM CB1 F`mbiQD�b TmMFi­ A2- i�BbM2b CA1 �M/ AC1 F`mbiQD�b TmMFi­ B2- i�BbM2b AB1

mM BA1 F`mbiQD�b TmMFi­ C2X
SB2`­/Ũi- F�- D� i`BDbiɟ`Bb A1B1C1 B` /�ʈ­/K�Hm- i�/ i`BDbiɟ`m AA1A2- BB1B2 mM CC1C2 �TpBHFi­b
`BƜŵ� HŨMBD�b pBb�b b�im` /Bpmb FQTŨ;mb TmMFimbX

G�M;m�;2, G�ipB�M G�BFb, 9 bimM/�b mM jy KBMɟi2bX
S�` F�i`m mx/2pmKm p�` MQT2HMŨi HŨ/x d TmMFiB2KX
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